Student Name:

Multiplication Word Problems

Work Space

Albert buys 6 LCD TVs. The cost of each
TV is $259. What is the cost of 6 LCD
TVs?

Answer =

A bolt manufacturing company packs
750 bolts in a carton. How many bolts
are there in 8 cartons?

Answer =

Kevin plans a field trip to New Jersey. He
rents a room in a hotel at a cost of $219
per day. If he stays in the hotel for 1
week, how much does he need to pay?

Answer =

Jackson works as carpenter for a chair
manufacturing company. He earns $450
per week. How much does he earnin 4
weeks?
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Student Name:

Answers:

Work Space

Albert buys 6 LCD TVs. The cost of each
TV is $259. What is the cost of 6 LCD
TVs?

Answer = S1554

A bolt manufacturing company packs
750 bolts in a carton. How many bolts
are there in 8 cartons?

Answer = 6000 bolts

Kevin plans a field trip to New Jersey. He
rents a room in a hotel at a cost of $219
per day. If he stays in the hotel for 1
week, how much does he need to pay?

Answer =51533

Jackson works as carpenter for a chair
manufacturing company. He earns $450
per week. How much does he earnin 4
weeks?

Answer = S1800

Free Math Worksheets @ http://www.mathworksheets4kids.com




